. INTERMEDIATE CERTIFICATE\}:‘.XAMINATION, 1943,

ELEMENTARY MATHEMATICS (Arithmetic).
FOR GIRLS ONLY,
TUESDAY, 15th JUNE —Morxixa, 10 1o 11.30

Sia questions may be answered.
All guestions carry equal marks.

Mathematical Tables may be obtained from the Superintendent.

1. 37 tons of turf cost £118 8s. What would be the cost of
tons 7

2. Evaluate 046 of [2 10s.+ 2125 of [4 8s.—432 of
16s. 8d.

- 3. Express in simplest form :
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. 4. Find the Simple Interest on £638 158, from Mareh 10th to
May 29th at 119, per annum.

5. A rectangular grass plot measures 80 yards by 60 yards. All
lound the plot on the outside there is a path 2} feet wide. Find,
rrect to the nearest square yard, what is the area of the path.

6. Find the diameter of a circle whose area is one acre, @ive
the result correct to 15 yard.

[ 20
'l?: ? .

.~ 7. Asum of £6 2s. 6d. was divided between three girls, A, B, C,
“in proportion to their ages. A was 14, B was 12 and C was 9 years
‘old. Find the amount that each girl received.

8. Three horses, A, B, C, were bought for £55, £70, £92,
(respectively, and sold at a profit of 109, of the amount paid for all

three. A was sold at a loss of 159 and B at a profit of 1219,. For
‘what amount was (' sold ?

. 9. A metal oylinder is 6 ins. high and 21 ins. in diameter. Find
‘the volume of the cylinder in cubic inches, correct to one place of
decimals,

If one cubic inch of the metal weighs 4'3 ounces, what is the
‘Weight of the cylinder ! Give the result correct to the nearest ounce.




